Form 3160-5 (August 1999) UNITED STATES DEPARTMENT OF THE INTERIOR BUREAU OF LAND MANAGEMENT SUNDRY NOTICES AND REPORTS ON WELLS Do not use this form for proposals to drill or to re-enter an					FORM APPROVED OMB NO. 1004-0135 Expires: November 30, 2000 5. Lease Serial No. NMNM01124 6. If Indian, Allottee or Tribe Name			
Do not use th abandoned we	ell. Use form 3160-3 (A	PD) for such p	roposals.					
SUBMIT IN TR	IPLICATE - Other instru	uctions on reve	erse side.		7. If Unit or CA/Agree	ment, Name and/or No.		
1. Type of Well	ther				8. Well Name and No. MultipleSee Atta	ched		
2. Name of Operator INFLOW PETROLEUM RES	TON NFLOWPETRO.	сом	9. API Well No. MultipleSee Attached					
3a. Address 13760 NOEL ROAD, SUITE DALLAS, TX 75240	104	3b. Phone No. Ph: 469.916	(include area code 5.8373)	10. Field and Pool, or Exploratory LAZY J			
4. Location of Well (Footage, Sec.,	T., R., M., or Survey Descripti	on)			11. County or Parish, a			
MultipleSee Attached					LEA COUNTY,	NM		
12 CHECK API	PROPRIATE BOX(ES)	TO INDICATE	NATURE OF	NOTICE, R	EPORT, OR OTHE	R DATA		
TYPE OF SUBMISSION				F ACTION				
	☐ Acidize	Deep	pen	Produc	tion (Start/Resume)	□ Water Shut-Off		
🛛 Notice of Intent	☐ Alter Casing	🗖 Frac	ture Treat	🗆 Reclam	ation	□ Well Integrity		
Subsequent Report	Casing Repair	🗖 New	Construction	🗖 Recom	plete	Other		
Final Abandonment Notice	Change Plans	🗖 Plug	and Abandon		rarily Abandon			
13. Describe Proposed or Completed C	Convert to Injection			🛛 Water	-			
Attach the Bond under which the w following completion of the involv testing has been completed. Final determined that the site is ready for This sundry notice is in resp	final inspection.)	nied only alter all i	requirements, meru	ding reclamation	n, have been completed,	7893		
recent produced water analy battery storage facilities and SWD well specifics including	transfer to SWD authorization to dispose				11	CO.O.A. 19		
The above documents are b Acrobat .pdf format. This in battery tankage inventory in 20-5 well SWD.	cludos water analysis da	ted 08/15/2004	trom vvestern C	nemical Co	mpany, r Fed	SED 5001		
The Beaty lease produces 6	0 bwpd into the battery v	water tank, and i	s pumped to th	e Fed 20-5 \$	SWD via	S. W. The Way		
14. I hereby certify that the foregoing	Electronic Submissio	TROLEUM RESO	DURCES.LP. se	ent to the Hol	bs			
Name (Printed/Typed) MATT H	IOUSTON		Title AUTH	ORIZED SIG	SNATURE			
Signature (Electroni	c Submission)		Date 09/21/	2004				
	THIS SPACE	FOR FEDERA	L OR STATE	OFFICE L	JSE			
Approved_By_DAVID_R GLASS			TitlePETROL		IEER	Date 09/22/2		
Conditions of approval, if any, are attac certify that the applicant holds legal or which would entitle the applicant to con-	equitable title to those rights in iduct operations thereon.	the subject lease	Office Hobbs					
Title 18 U.S.C. Section 1001 and Title States any false, fictitious or fraudule	43 U.S.C. Section 1212, make nt statements or representation	it a crime for any po s as to any matter w	erson knowingly an ithin its jurisdiction	nd willfully to n n.	nake to any department or	agency of the United		
** BLM RE	VISED ** BLM REVIS	SED ** BLM RI	EVISED ** BL	M REVISE	DBLM REVISE	h"EnR		
GWW			A	OLC	IONS OF A	DDDNIAL		
01.			1.		IUNS UP R	IFFNUVAL		

.

Additional data for EC transaction #36411 that would not fit on the form

Wells/Facilities, continued

~ ~,

NMNM01124 NMNM01124 WILLARD BEATY 03	API Number 30-025-21892-00-S1 30-025-21929-00-S1	Location Sec 35 T13S R33E NESW 1650FSL 2310FWL Sec 35 T13S R33E SESE 660FSL 660FEL
--------------------------------------	--	--

,

3

32. Additional remarks, continued

a transfer pump and Murphy switches at the lease battery water tank.

5009 Went Broadway Satha, New Marias \$2245

Office Net 505-591-0501

10. O. Jon 5946

09/21/2004 09:22 4699168377 Rug 17 04 03:23p LOUIS EDGETT

Vesterre Balgermical

۴,

WATER ANALYSIS REPORT

AMAL YESS mg/L QQ, W7. YEQ/L 1. pH 7.58 International Control Contro Control Contro Control Control Contro Control Control Contro Con			Inflow Pet. Res. Wellhead August 13, 2004	Locations Sampled By: Data Sampled: Subsman:		Willard Besty Hardin August 15, 2004 Hardin					
AMALYESS Amage and an an an and an an an and an an an an an and an				me/L		EQ. WT.		MEQ/L			
I. pH 1.039 2. Specific Gravity 60/60 f. 40 PPM 3. Hydrogen Suifide 20.0 PPM 4. Carbon Dioxide 0 / 17.0 = 0.00 5. Dissolved Coxygen 0 / 30.0 = 0.00 6. Hydroopi (201+) 0 / 30.0 = 0.00 7. Carbonate (1003-) 464 / 61.1 = 7.59 8. Bicorboate (1003-) 464 / 61.1 = 7.59 9. Chionide (C3-) 4,000 / 48.8 = 61.97 10. Suffate (504-) 281 / 20.1 = 13.96 11. Caldum (CA++) 146 / 12.2 = 11.97 12. Magnestem (Me++) 16.561 / 23.0 = 711.35 13. Sodum (Me+) 0.00 27.5 = 0.00 16 Total Iron (Fe) 25.00 27.5 = 0.00 17 Dissolved Solids 0.00 27.5 = 0.00 18 Fitzerable Solids 44,247 2.01 1 2		AN	ALYSIS		***		***	erere trezer	:::::::::::::::::::::::::::::::::::::		
2. Specific Gravity 60/60 f. 40 PPM 3. Hydrogen Salida 20.0 PPM 4. Carbon Dicoide Net Determined 5. Disaciual Coxystei 0 / 17.0 = 0.00 6. Hydroget (CH+) 0 / 30.0 = 0.00 7. Carbonate (CO3=) 464 / 61.1 = 7.59 8. Bitrarbonate (HOC3-) 22,995 / 35.5 = 647.75 9. Chloride (C5-) 4000 / 40.8 = 61.577 10. Suffate (SO4=) 281 / 20.1 = 13.96 11. Caldum (CA+++) 146 / 12.2 = 11.97 12. Magnestum (Mg++) 163.561 / 23.0 = 711.35 13. Sodium (Ne++) Net Determined 15 15.5 10.00 27.5 = 0.00 15. Magnestum (Mg++) 25.00 25.00 15 16 124.247 16 12 16. Total Solids 44.247 0 0 1301 1301		-	, 49%####################################	7.58							
3. Hydroget Sulfide 20.0 PPH 4. Carton Dixotie Not Determined 0 / 17.0 = 0.00 5. Dissolved Cotygen 0 / 30.0 = 0.00 7. Carbonate (203=-) 464 / 61.1 = 7.59 8. Bicerbonate (1003-) 22,995 / 35.5 = 647.75 9. Chioride (C1-) 4,000 / 49.8 = 81.97 10. Subtate (SO4=) 281 / 20.1 = 13.96 11. Caldum (Ca++) 146 / 12.2 = 11.97 12. Magnesstum (Mey++) 16,361 / 23.0 = 711.35 13. Sodium (Ne+) Not Determined 0.00 27.5 = 0.00 14. Bartum (Be++) 0.00 27.5 = 0.00 15. Manganese (Mn++) 25.00 = 711.35 16. Total Total (Fe) 25.00 = 712.35 17. Dissolved Solids 44,247 14.247 14.247 18. Fiberable Solids 1,301 1 20. Total Solids 1,301 0		1.	pH	1.039							
4. Carbon Ditodde Not Determined 5. Dissolved Doygen 0 / 17.0 = 0.00 6. Hydroge (CH+) 0 / 30.0 = 0.00 7. Carbonate (CO3=) 464 / 61.1 = 7.59 8. Bicarbonate (HCO3-) 22,995 / 35.5 = 647.75 9. Chloride (C1-) 4,000 / 48.8 = 61.97 10. Saffate (SO4=) 22,995 / 35.5 = 647.75 11. Caldum (CA++) 146 / 12.2 = 11.97 12. Hagnestum (Mg++) 16.361 / 23.0 = 711.35 13. Sodium (Ne+) Not Determined 0.00 27.5 = 0.00 14. Barturn (Ba++) 0.00 27.5 = 0.00 15. Manganese (Mn+-) 25.00 - = 0.00 16. Total Iron (F6) 1,301 - - 1.2 - 1.2 <td></td> <td>2</td> <td>Specific Gravity 50/60 t.</td> <td>40</td> <td>PPM</td> <td>t</td> <td></td> <td></td> <td></td>		2	Specific Gravity 50/60 t.	40	PPM	t					
5. Disschved Cotygen 0 / 17.0 = 0.00 6. Hydrocyt (CH+O) 0 / 30.0 = 0.00 7. Carbonste (CO3=) 464 / 61.1 = 7.59 8. Bicorbonate (HO3=) 22,995 / 35.5 = 647.75 9. Charkle (C1-) 4,000 / 48.8 = 81.97 10. Suttate (SO4=) 281 / 20.1 = 13.98 11. Cakium (CA+++) 146 / 12.2 = 11.97 12. Hagnesium (Mg++) 16,361 / 23.0 = 711.35 13. Sodium (Ne+) Not Determined 0.00 27.5 = 0.00 15 Manganese (Mn++) 25.00 25.00 - - 14.247 19 Total Fon (F6) 44,247 - - - - - 20 Total Fond Hardness As Ca003 1,301 0 - - - - - -		3.	Hydrogen Sulfide	20.0	PPM	1					
5. Disactived (2xygen 0 / 17.0 = 0.00 6. Hydroxyt (CH+) 0 / 30.0 = 0.00 7. Catoronate (XO3-) 464 / 61.1 = 7.59 8. Bicarbonate (HO3-) 22,995 / 35.5 = 647.75 9. Chloride (CI-) 4,000 / 48.8 = 81.97 10. Sufface (SO4-) 22,995 / 23.0 = 711.98 11. Cationfn (CA++) 146 / 12.2 = 11.97 12. Magnesium (Mg++) 16,361 / 23.0 = 711.35 13. Sodium (Ne+) Not Detarmined - 711.35 - 1.00 14. Barlum (Ne+) 0.00 27.5 = 0.00 - - 15. Manganese (Mn+) 25.00 - - 0.00 - - - - - - - - - - - - - -		4		Not Determined							
7. Carbonste (CO3=) 464 / 61.1 = 7.59 8. Bicerbonste (HO03-) 22,995 / 35.5 = 647.75 9. Chioride (C-) 4,000 / 48.8 = 81.97 10. Suffate (SO4=) 281 / 20.1 = 13.96 11. Caldum (CA++) 146 / 12.2 = 11.97 12. Magnestum (Mg++) 16,361 / 23.0 = 711.35 13. Sodium (Ne+) Not Determined 0.00 27.5 = 0.00 14. Bartum (Ba++) Not Determined 0.00 27.5 = 0.00 15. Manganese (Mn+) 25.00 25.00 16 7 total Iron (F6) 17 Dissolved Solids 44,247 18 19 Total Solids 44,247 19 19 Total Solids 1,301 12 Suspended Oil 0 0 12 Volume Ritered (mi) 0 0 12 Volume Ritered (mi) 0 123 Resistivity @ 75 F. (calculated) 0.185 /cm. 123 Resistivity @ 75 F. (calculated) 0.185 /cm. 13 135 135 135 135		5.			1	17.0	-				
8. Bicarbonate (HOO3-) 22,995 / 35.5 = 647.75 9. Chioride (C1-) 4,000 / 48.8 = 81.97 10. Saffate (SO4) 281 / 20.1 = 13.96 11. Caklourn (CA++) 146 / 12.2 = 11.97 12. Magnesium (Mg++) 16,361 / 23.0 = 711.35 13. Sodium (Ne+) Not Detarmined 0.00 27.5 = 0.00 15 Manganese (Mn+) 25.00 25.00 = 0.00 16 Total Iron (Fe) 44,247 = 1.301 17 Dissolved Solids 44,247 = 1.301 18 Filterable Solids 44,247 = - 20 Total Total Hardness As CACO3 1,301 = - 21 Suspended Oli 0 0 - - 22 Volume Filtered (mi) 0 - - - 23 Resistivity @ 75 F. (cakulated) 0.185 /c		6.	Hydroxyt (OH-)	0	1	30.0	*	•••-			
9. Chloride (C-) 4,000 / 48.3 = 81.97 10. Suffate (SO4=) 281 / 20.1 = 13.96 11. Caldiuft (CA++) 146 / 12.2 = 11.97 12. Magnesium (Mg++) 16,351 / 23.0 = 711.35 13. Sodium (Ne+) Not Determined 27.5 = 0.00 14. Bartum (Ba++) 0.00 27.5 = 0.00 15. Manganese (Mn+) 25.00 25.00 16 16. Total Iren (Fe) 44,247 0.00 27.5 = 0.00 17. Dissolved Solids 0.00 27.5 = 0.00 27.5 10.00 16 18. Fitterable Solids 0.00 13.301 10.00 10 10.00 10 20. Total Total Hardness As CaCO3 1,301 0 0 12.2 12.00 12.00 21. Suspended Oli 0 0 0 13.301		7.	Carbonate (003=)	454	1	61.1	-				
9. Chloride (CJ-) 4,000 / 48.8 = 81.97 10. Suffate (SO4=) 281 / 20.1 = 13.98 11. Caldum (CA++) 146 / 12.2 = 11.97 12. Magnesium (Mg++) 16,361 / 23.0 = 711.36 13. Sodium (Na+) Not Detarmined = 0.00 14. Bartum (Na+) 0.00 27.5 = 0.00 15. Manganese (Mn+) 25.00 = 0.00 16. Total Iron (Fe) 44,247 = 1.301 17. Dissolved Solids 0.00 44,247 = 1.301 19. Total Total Hardness As CaCO3 1,301 = - = 20. Total Total Hardness As CaCO3 0 0 - = 21. Suspended OH 0 0 0 - - 22. Velume Filtered (mi) 0 0 - - - 23. Resistivity © 75 F. (calculated) 0.185 /cm. - - - 23. Resistivity © 75		8.		22.995	1	35.5	-				
10. Suffate (SO4=) 11. Caldium (CA++) 12. Magnesium (Mg++) 13. Sodium (Na+) 13. Sodium (Na+) 14. Barium (Ba++) 15. Marganese (Mn+) 16. Total Iron (Fe) 17. Dissolved Solids 18. Fitterable Solids 19. Total Total Hardness As CaOO3 11. O 20. Total Total Hardness As CaOO3 12. Volume Filterad (mB) 20. Total Total Mardness As CaOO3 21. Suspended Oil 22. Volume Filterad (mB) 23. Resistivity @ 75 F. (calculated)		9.				48.8		81.97			
11. Caldium (CA++) 251 / 2011 - 1000 12. Magnesium (Mg++) 146 / 12.2 = 11.97 13. Sodium (Ns+) 16,361 / 23.0 = 711.36 14. Barlum (Ba++) 16,361 / 23.0 = 0.00 15. Manganese (Mn+) 0.00 27.5 = 0.00 16. Total Iron (Fe) 25.00 17. Dissolved Solids 0.00 18. Filterable Solids 0.00 19. Total Solids 1,301 20. Total Hardness As ChCO3 1,301 21. Suspended Oli 0 22. Valume Filtered (mi) 0 23. Resistivity @ 75 F. (calculated) 0.185 /cm.		10.	Suitate (SO4=)								
11. Caldium (CA++) 146 / 12.2 = 11.97 12. Magneskum (Mg++) 16,361 / 23.0 m 711.36 13. Sodium (Na+) Not Determined 14. Bartum (Ba++) 0.00 27.5 m 0.00 15. Manganese (Mn+) 25.00 16. Total Iron (Fe) 44,247 17. Dissolved Solids 0.00 18. Filterable Solids 0.00 19. Total Total Hardness & CaCO3 1,301 21. Suspended Oli 0 22. Volume Filtered (mF) 0 23. Resistivity @ 75 F. (calculated) 0.185 /cm.				281	. 1	20.1	-				
12. Magneskum (Mg++) 16,361 / 23.0 = 711.36 13. Sodkum (Na+) Not Detarmined 14. Bartum (Ba++) 0.00 27.5 = 0.00 15 Manganese (Mn+) 25.00 25.00 16 Total Iron (Fe) 44,247 17 Dissolved Solids 0.00 18 Fitherable Solids 0.00 19 Total Solids 1,301 20 Total Total Hardness As CaCO3 1,301 21 Suspended OH 0 22 Velume Filtered (mi) 0 23 Resistivity @ 75 F. (calculated) 0.185 /cm.		11.			-	12.2		11.97			
13. Sodkum (Na+) Not Determined 14. Bartum (Ba++) 0.00 27.5 = 0.00 15 Manganese (Mn+) 25.00 25.00 16 16 Total Iren (Fe) 44,247 0.00 17 18 Fitherable Solids 0.00 19 17 total Solids 1,301 19 17 total Total Hardness As CaCO3 1,301 10 12 Velume Filtered (mi) 0 0 12 Velume Filtered (mi) 0 185 /cm. 18 19 17 total Solids 1,301 10 10 10 10 10 10 10 10 10 10 10 10 12 Velume Filtered (mi) 0 135 /cm. 135 /	÷.	12.			-		æ	711.36			
14. Barluth (BB++) 0.00 27.5 = 0.00 15 Manganese (Mn+) 25.00 16 Total Iron (Fe) 25.00 17 Dissolved Solids 0.00 18 Fitzerable Solids 0.00 19 Total Solids 1,301 20 Total Total Hardness As CaCO3 1,301 21 Suspended OH 0 22 Volume Filtered (mi) 0 23 Resistivity @ 75 F. (calculated) 0.185 /cm.		13.	Sodium (Na+)	••••							
15 Manganese (Mn+) 25.00 16 Total Iron (Fe) 44,247 17 Dissolved Solids 0.00 18 Fitherable Solids 44,247 19 Total Solids 44,247 20 Total Solids 1,301 21 Suspended OH 0 22 Volume Filtered (mi) 0 23 Resistivity @ 75 F. (calculated) 0.185 /cm.		14.	Barium (Ba++)			27.5	=	0.00			
16 Total Iron (Fe) 17 Dissolved Solids 18 Fitzerable Solids 19 Total Solids 20 Total Total Hardness As CaCO3 21 Suspended Oli 22 Velume Filtered (mi) 23 Resistivity @ 75 F. (calculated)		15	Manganese (Mn+)	•							
17 Dissolved Solids 0.00 18 Fitzrable Solids 44,247 19 Total Solids 1,301 20 Total Total Hardness As CaCO3 1,301 21 Suspended Oil 0 22 Volume Filtered (mi) 0 23 Resistivity @ 75 F. (calculated) 0.185 /cm.		16	Total Iron (Fe)	2.0							
17 Dissolved Solids 0.00 18 Fitzrable Solids 44,247 19 Total Solids 1,301 20 Total Total Hardness As CaCO3 1,301 21 Suspended Oil 0 22 Volume Filtered (mi) 0 23 Resistivity @ 75 F. (calculated) 0.185 /cm.					•						
18 Filterable Solids 44,247 19 Total Solids 1,301 20 Total Total Hardness As CaCO3 1,301 21 Suspended Oil 0 22 Volume Filtered (mi) 0 23 Resistivity @ 75 F. (calculated) 0.185 /cm.		17 -	Dissolved Solids	· · ·							
19 Total Solids 20 Total Total Hardness As CaOO3 21 Suspended Oli 22 Volume Filtered (mi) 23 Resistivity @ 75 F. (calculated)		18	Filterable Solids								
20 Total Total Hardness As Calcus 21 Suspended Oli 22 Volume Filtered (mi) 23 Resistivity @ 75 F. (calculated)		19	Total Solids	443,444	/						
20 Total Total Hardness As Calcus 21 Suspended Oli 22 Volume Filtered (mi) 23 Resistivity @ 75 F. (calculated)											
21 Suspended Oli 0 22 Volume Filtered (mi) 0 23 Resistivity © 75 F. (calculated) 0.185 /cm.		20	Total Total Hardness As Ca003	1,30							
22. Volume Filtered (m) 23. Resistivity @ 75 F. (calculated) 0.185 /cm.					-						
23 Resistivity @ 75 F. (Calculated)					U						
24 CACOB Securation Index		72	Resistivity & 75 F. (calculated)	J.1	95 /a	m.					
			CACO3 Securation Index								

	\$80 F.	-0.0722 0.2778	PROBABLE MINERAL COMPOSITION							
	ф100 F. ф120 F.	0.5278	COMPOUND		X	MEQ/L	= mg/L			
	@140 F.	0.8778		81.04		7.59	615			
	@160 F.	1.1978	Ca(H003)2 CaSO4	68.07		6.39	435			
• 4	Calcium Suifate	3,478 mg/L	CaC12	55.50		0.00	0			
24.	solubility @ 90 F.		Mg(HCO3)2	73.17		0.00 11.97	0 720			
			MgSO4	60.19 47.62		0.00	0			
			MgCL2 NaHCO3	84.00		0.00	D			
			NaSO4	71.03		63.61	4,518			
Chen	Hardin		NaCl	58,46		647.75	37,967			

1553

Analysis No.

INFLOW	PETRO	RES	LP	
	• = • • • •			BATTERY
_			TANK	HATTERT

PAGE 02

\$300.00

\$300.00

\$0.00

\$700.00

\$0.00

\$0.00

Value

Value

Value

Value

Value

Motor: 2 HP ELEC

Motor: 10 HP ELEC

Motor:

Pipeline Co.

\$0.00

\$0.00

\$1,000.00

\$1,000.00

\$0.00

\$0.00

\$100.00

\$0.00

\$0.00

\$0.00

\$100.00

\$200.00

\$0.00

\$0.00

\$0.00

9/21/2004			377		IN	FLOW PE	TRO RES I LITY	5 LP TANK B	ATTE	RY
EASE WI	LLARD BE	ATY								
eparators						• - 14 - d	w	Value		\$
3	by .	10	Prod o	or Test	Weided o	t Rolled		•		
Width (ft)		Height (ft)			م المراجع المراجع	- Doltad	w	Value		;
3	by -	8	_ Prod	or Test P	Weided o	It Donce				
Width (ft)	-	Height (ft)			Weided	v Bolted		Value		
0	by -	0 Height (ft)	Prod	or Test	-					
Width (ft)		(HEIQUIL (IC)								
Heater/Tre	aters							Value		
8	by	20	Prod	or Test P	Welded	or Boited		A store		
Width (ft)		Height (ft)						Value		
0	by	0	Proc	or Test	Welded	or Bolted		4 510 5		
Width (ft)		Height (ft)				- Dobod		Value		
0	by	0	Proc	i or Test		or Bolted				_
Width (ft)		Height (ft)								
Gun Barr	ls/Gun	Sights								
		0		0	Tank #		Welde	d or Bolted		Vai
0	_ bbis	Width (ft)	by	Height (ft)						
٥	bbis	0	by	0	Tank #		Welde	ed or Solted		٧a
		Width (ft)		Height (ft)	-					
Oil Tanks	5 bbis	15.5		16	Tank#	31904	Weld	ed or Bolted	<u></u>	Va
500	~	Width (ft)	- by ·	Height (ft)	-					
500	bbis	15.5		16	Tank #	31905	Weld	ed or Boited	<u>w</u>	Va
		Width (ft)	_ by ~	Height (ft)	-					
0	bbis	0	b	0	Tank #		Weid	led or Bolted		V
		Width (ft)	_ by -	Height (ft)				Dollard		v
0	bbis	٥	by	0	Tank#		Weic	ted or Bolted		
		Width (ft)		Height (ft)						
Water Ta	anks									
		•					387-1	dad or Politad	FG	١
60	bbls	6	by	12	Tank #			ded or Bolted		- '
		Width (ft)		Height (ft)				ded or Bolted		`
0	bbis	0	by	0	Tank#					- '
<u></u>		Width (ft)		Height (ft)			18/-1	ided or Botted		,
0	bbis	0	by	0	Tank#					- `
		Width (ft)	~.	Height (ft)	- - • •		احابي	ided or Bolted		١
0	bbis	0	by	0	Tank#	<u></u> ,				_
		Width (ft)	· · -	Height (ft)						_

.

Pumps

Make

Description

Circulating Pump

Water Transfer Pum

Water injection Pum LACT Units

VIKING

Mode

DURCO

Make:

Make:

Make:

Other Equipment on this Location

Model

Modei

Model

Motor

.

\$3,700.00 GRAND TOTAL:

Value

Value